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import random
r=0
w=0
foriinrange(5):
a=random.randint(ord('a'),ord('z'))#ord & ¥ ¥} & & #c
print(chr(a))
b=input()
if b==chr(a):
r=r+1
print("Right")
else:
w=w+1
print("Wrong")
print("Right=%d" % r)
print("Wrong=%d" % w)

EI AN BN
1. 55 M Debug TH » BIZDL ERRABITRAR -

23 A 4 6B-373chpt dic > Myt #c 0 f Eenip ko
334 4 1016 hf e > syt b dicsr F BB ik o

EEERURMES S PR RS EPES RS



Zoxdhsyghsow B %A

5.3 A 2 10B1~6pt fic > st deF T1 ) Nheh=idk o

6.5 4 4 10 B 1~6ft #ic 0 izt #i g #eF J Theh=k e o

754 2 10 1765 e 0 St vm— BT DR ek § o

&uiﬁ$ogﬁgﬁéiS%ﬁ%I&ﬁwdf%?ﬁﬁﬂﬁwn%%’?%3
L/ S - R AL s S R T

9%@@%oéﬁ@@%ﬂm%DoﬂsaDo’ﬁ@%ﬁﬁ»rﬂ’%%
L/ S - AL s S R T

10.3d T %o p A& 2 300 < ¥ E 108 ] 3 E 100605 o x 0 St
0~59,60~69,70~79,80~89,90~100 1 i #xc

1138 - B2 > TH™ @ FNmS0B - B F ~ 0 ® A m

4 (a,e,i,ou)eHip #c o

# »]5_3b S B k2 EE
i ES
APAFARFEENEAF T AL R L R T E S fRPY

A BeAp g e

4
2 4
2 9 5 2

X
o O|lWw
(@)]

BERERTTIHNLKE BROBERERAREFE  BFE—RNEFE,
(ERABRAERMBELEES ) , IARAfoEREEREFZMUT :

a=82



b=36

s=0

for i in range(b):
S$=s+82

print(s)
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i=12
b=True
print(i)
for j in range(2,i):
if i %j ==
b=False
break
if b==True:
print("prime")
else:
print("not prime")
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s=0
foriinrange(100+1):
S=S+i

print(s)
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S | 3%20+7=67 38 4

2 | 67X 7=469 46 9

3 | 37x20+2=742 148 4
742X 2=1484 148 4
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a=9
for 1 1n range(9):
if 1*i>=a:
print(1)#3
break
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a=9
s=10#BURFE L
for 1 1in range(a*s):
1f (1/s8)*(1/s)>=a:
print(1/s)#3.0
break
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a=9
s=1 00#IURAE L
for 1 1in range(a*s):
1f (1%1/(s**2))>=(a):
print(1/s)
break
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s=10#BUKEEL
for x 1in range(-10*s,10%s):
y=((x/s)**2)+x/s-0.75
1f y==0:
print (x/s)
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a=300

s=0

for 1 in range(l,a+l):

al=1//100 #E{ir%



a2=(i-al*100)//10 #+fir#y
a3=i P10 #EfrE
if al==2:
s=s+1
if a2==2:
s=s+1
if a3==2:
s=s+1
print(s)
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[break]
[continue]
[pass]
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[F2=CH1EN ]
a=8H# M FREL
b=3#FREL
q=0#7%
while(a>=b) :#HZH(HIRESHRE) BTk
a=a-b  # (HEFRED - (FRED)
q=q+1  H#EERIENY 1
print(q)# PEEL
print(a)#6RE
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import random
s=0
a=random. randint(1,6)
print(a,end=" ")
while al!l=1:
s=s+a;
a=random. randint(1,6)
print(a,end=" ")
print(s)
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Bk TEx=50

Please input 3(KK),2(35%),1(K/N):3

KK, B IEx=25

Please input 3(KK),2038F),1(K/N):1

KN, BlEIFX=37

Please input 3(KK),2008F),1(K/N):1

KN, BlEIEx=43

Please input 3(KK),2(35%),1(K/N):3

KK, B Hx=40

Please input 3(KK),2008F),1(K/N):2

Bingo,The number is 40
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FE=FIE]
x1=1
x2=100
right=False
while not(right):
x=(x1+x2)//2
print (" BEEIE x=%d '%x,end="")
a=input("Please input 3(AK),2035F), 1K/ ")
if a=="2":
right=True
break
elif a=="3":
print("XK, " ,end="")
x2=x-1
else:
print('" &K/, ", end="")
x1=x+1
print("Bingo,The number 1s %d"% x)
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:x1=0.00,x2=9.00
:x1=0.00,x2=4.50
:xX1=2.25,%x2=4.50
:xX1=2.25,%x2=3.38
:x1=2.81,x2=3.38
:x1=2.81,x2=3.09
:x1=2.95,x2=3.09
:x1=2.95,x2=3.02
:x1=2.99,x2=3.02
0:x1=2.99,x2=3.01
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1 x1 X x2
0 4.5(RX) g9
5 x1 x %2
0 2.25 (K1) 4.5

xl x x2

3 3.37 (&%)

(1) BRENER ALY, IHFHFRSEXL=0 (T %) BEx2=y (2
) 2@, BEEEARX1,X2).

(2) BEBx1+x2 ZFH—Ex,

(3) BFfEx BMEH IRy, KRRBHAD , YW BEEER (x,
x2) o

(4) BFIENX BMEFRRy, RRBNAK , TE/NFEEER (X1,
xJ) o

(G) EBLSERQ2). 3). (4), RE (x1,x2) NEBEARMERNBRE
( NEM0.01 RANE=170.001 ) , AIERER ; SHEDOEE , e

x1 =x2 BNAFEHFR,

FEFHIEN

v=9.0

x1=0.0

X2=y

n=1

while (abs(x1-x2)>0.01):#FE#E>0.01 444555
print("%d:x1=%2.21,x2=%2.2f" %(n,x1,x2))
x=(x1+x2)/2

t=x*x



1f t<y
x1=x
else:
X2=x
n=n+l
print(x)#2.99
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